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I11. MULTIPLE CHOICE QUESTIONS:
Cament@ED eler: (20X1=20)

1. Shifting of hydrogen atom from one carbon atom to another to produce enediols is called as
A) Tautomerization B) Mutarotation
C) Haworth projection D) Configuration.

mABL TN Sl @(h HTTUET Djgmialed mpbg Lfbal BeBTEH STTUGT SiemieL el Caba
GTNIQUITEL © (HoUTeUG 6TGITLIG.

A) LiBLTOwmyCsFe B) 1w rGrmGLages
C) amnirQeud LOITORRs5ag6 D) aner. 110G agemm

2. Fuel reserve of the body
A) Triacylglecerol B) Cholesterol C) Purine D) Galactose.
o elem Lueled Mfamel
A) yoysmaedelFmed B) @&mGeverorgmed  C) riuyMesr D) &meuréGLmerd

3. Factories of Protein synthesis.

A) RNA B) DNA C) Ribosome D) Amino acids
WIS o (heuT@ld OHTHBFTEm60.
A) syft.elen.ef B) 19.61631.67 C) MBumBamb D) oufGem ouflevid
4. Steatorrhea is a condition in which occur.
A) Loss of lipids in feces B) Loss of glucose in feces
C) Loss of Protein in feces D) Loss of Vitamin C in feces

eolpuI GLwIm  6T6HTEID [HleWey SHDSHBHTEWILINS GHMBISEGLD.
A) euGHHed Gamupriy GeueMBuimed B) wewsded &HenBsrend GeuelGuimed
C) ursb 1evHHe0 GeueBGuimed D) eweu Lifleir & evdhded GeueiGuimed

P.T.O.



5. Following is not related with Olestra,

A) Synthetic lipid B) Glycerol
C) Sucrose D) Contain natural fatty acid
SHHTEID Q&I @OeverLJTalL b GHTLTY Be0eoTHS
A) AeaiGmigs QasmupriLy B) deflagmed
C) asGymerd D) Bummswre GsTugliny oifevd
6. is the end product of Protein metabolism.
A) Uric acid B) Urea C) Ammonia D) Nitrogen
—————————————————— s euenidlens LomBmSHHe SmIdHl GUITHe.
A) wis suflevd B) wyfluwm C) oubGumeiuim D) eopl yege

7. Insulin dependent transport system of glucose occurs in .
A) Erythrocyte B) Brain C) Muscle D) Hepatocyte

Beiigedlenr Fibd GenCamerd LfomBpB SpsbaTeuiuaBpied HLHGSLD.
A) afl&Grmenat B) cwemern C) sma D)&60aSye0 GF6d

8. The end product of aerobic glycolysis is :
A) Lactate B) Pyruvate C) Glucose d) Fructose.

aGhFmei FUBSHLOTET SHenendBasmensudlen-er Gmig CLITmHel
A) GovsGLL. B) ewumGeul” C) &enCsmerd D) (y&GLmerd

9. The following hormone stimulates gluconeogenesis.

A) Insulin B) Glucagon C) Thyroxine D) Somatostatin.
SssTamid ammTGLTer & eEnCsMHGWTOMeaIFfed gmamBeald@Eb
A) Beaedes B) & enBsrsmes C) ewaynsdle D) GamorBLerd@Liges

10. Microcytic anemia due to the deficiency of :
A) Vit By, B) Iron C) Folic acid D) Sodium

mHEIT mFIYH DEONOWIT SDHHTRILIGH (&HMBHEVTL JMBLIBLD.
A) eeul Liflest 11, B) 8mbus gH3 C) Gumeds ouflevid D) Gamguubd
11. is regarded as a body weight regulatory hormone.
A) Leptin B) Peptin C) Olestra D) Thermogenin
------------------- 2 160 eIemLenl QUERIGUBSHSHILD ammTGLomet.
A) Georiges B) Qurnges C) qeverdL gm D) O&tGwromee

12. The following carbohydrates not utilized by the body .
A) Starch B) Lactose C) Glycogen D) Pectin

SssTamid HTTBUTemaBL GJl 2 [ euTed o LGWITSLILIGGHSLILIL TG
A) eoLniTE B) eoméGLmerd C) FanenGasmbiagei D) Guélges

P.T.O.



13. One of the following hormone is different in chemical nature.

A) Gluco corticoids B) Mineralo corticoids
C) Antiduretic hormone D) Sex hormone
SsHsTamid ammTeLTer Geugluisd SigliLien uled LOTBILILL G
A) GeCaT HTgsTUI[H B) femyGeor sminigamui’ erd
C) aueng ewLwOyigdh ammiTGLomest D) Qzded ammirGiomest

14. Following part of brain is a specialized centre work as a master co-ordinator of hormonal
action

A) Thalamus B) Pituitary C) Hypothalamus D) Substantia nigra
BDHHEIL  cpenenuilell @h UGS ammTGome OFuIeOEHEHHSTRT HeMELENLD 6 (HRIE eNEILILITS
o2 6lTeNgl.

A) SHeomierd B) cug C) wamBuITHeomoerd D) glieroLmedlwim  enpabym

15. Following is not a protein hormone.
A) Growth hormone B) Prolactin C) Steroid hormone D) placental Lactogen
BSHTWILGH LTH ammTéomeT ©je06v.
A) &0reng ammiTGmest B) uGymeordigest
C) erbigymui  eumir@uomest D) MenmmQaei_s0 euraGL Teges

16. One of the following test is based on metabolic capacity.

A) Anti pyrine clearance B) Bile pigment

C) Serum albumin D) Bromo sulphthalein
SpsHETamId LNCFTHmIWITHIG aueTdens LOTBBSHSH6 SHmenoemuill GUTHSSI
BGoBesmeTemlLIBLD

A) siangenuifesr defluwiyeiterd B) ewued 1966

C) Qayib o606 D) uGymor gFeorigees

17. One of the following pair in van den Bergh reaction and jaundice is incorrect.
A) Indirect positive- Hemolytic Jaundice
B) Direct positive — obstructive jaundice
C) Direct positive - Hemolytic Jaundice
D) Biphasic Hepatic - jaundice
aUTTOL 6T LTS CFulensd WLBBID LDEHFETHTIOTEM6L E6N6mT HEUBTIH
A) LOBUHOTS 2 6Tengl - anfGTmevigdh HTLOTENEV
B) Gritwasions 2 seng — LN 2 UL TG STOTEN60
C) Gpipsions o aengl - anGLOTENEIQE HTIDTENED
D) wenpuasid wBmid GhTIpHD o 6Teng — &H6065T60 HTLDTEN6V

18. The following distinct process is not related with DNA.

A) Replication B) Repair C) Rotation D) Recombination.
BHHEWIL  (PHETMD CFUImS 19.616016] L &1 FIOLHSLILILTHS.
A) 58 Gauiens B) uwa Besed C) spmd D) wm Garéme

P.T.O.



19. The Parental strands of DNA are separated by enzyme.

A) Helicase B) Trypsin C) Primase D) Trehelase
STl 1g9.616576)-m60 LTfle@HLD  6TeitenaLb.
A) GasaIBserd B) pftidler C) liewyGioerd D) M&Beverd

20. The following is not a cause of dehydration.

A) Vomiting B) Diarrhea C) Lack of ADH D) Over production of ADH
BSHHEmLH o L 6deT BHTHBHIOID GDBEUSBSHT6T HITJ6wTLOG6V.

A) aurpd B) auippniBursg — C) gu.eadF. Goput®@ D) gu.adF. oighsonsed
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1. MULTIPLE CHOICE QUESTIONS:

QaTe@N afler: (20X1=20)
1. Which shape does Glucose gives in osazone formation?
A) Needle shaped B) Sunflower shaped
C) Powder puff shaped D) Cotton seed shaped
RBFTEN 2 HATHEHHHD GHEHHEHTV 6% alYaIHms elbapa?
A) oamdl augeuld B) @&flw &mbs 1 eugeid
C) ueyLy w1 eugeId D) umsd elews eugeid
2. Name the peptide that inhibit sense of pain.
A) Glutathione B) Methionine enkephalin
C) Oxytocin D) Vasopressin
Reumpllsv 61& ausllufledll 2 emijenel HbBHGHW Gl (H?
A) &l LTengGuime B) OugaGuimenenedr 616G LITEN6V6T
C) oudend@Lmendsm D) eur@evortiydleit
3. The non protein part in holoenzyme is,
A) Apoenzyme B) Substrate C) Coenzyme D) Cofactor
amr@som eTaTENFLO60 2 616 LJHID DIeV60TH UGS 61gl?
A) o8ursisiienaid B) el Gyl C) 2 e Gpred D) Gsmumdii

4. Inflammation of pancreas is,

A) Flatulence B) Steatorrhea C) Peptic ulcer D) Pancreatitis
HMEWIW ibHID  6T6ITLIGI,
A) amuie) B) erbler GLmfluum Cauulmmit yewr  D)senemius Sipmd

5. Which enzyme acts on the peptide bonds of terminal amino acid?
A) Exopeptidase B) Endopeptidase C) Hydrolase D) Enolase
QLbemsd oNOGeim iblevdHaeir LlswetliLjsered 61bd GBI CFwsoLGSBSHI?
A) asBBenumuingBLerd  B) sreiBLrGuigBLed  C) emamt Byr@sverd D) memBsverd
P.T.O.



6. Which is the termination codon?

A) AUA B) AUG C) UAA
RQeuBplled 61&l (g6 BmLer?
A) AUA B) AUG C) UAA

7. The precursor for the synthesis of Ketone bodies is,
A) Methionine B) Acetyl CoA C) Cholesterol
RQeupnflsv e1&H SU_GLmedr UMgmeien GeHT@UL6T cps0lD?
A) GusHCuremsnst  B) oiflemsd COA  C) Gasmeverdiermed

8. Excretion of Glucose in urine is known as,
A) Glucosemia B) Galactosuria C) Fructosemia
Fupisfled GHemobCsmery GeueMGuIpIeIl 6T6TLIGI,
A) &ens8smerSiilwm B) arensGLrsOwm C) uysBLrdfluwm

9. Energy Currency of the cell is,

A) ADP B) ATP C) NADP

OFsvmeMMen SUBMBEL [HTEWIWILD,

A)ADP B) ATP C) NADP
10. Which Vitamin helps in blood clotting?

A) Vitamin A B) Vitamin D C) Vitamin E

6ibd weUL L L0lsil QTHHID 2 mBeISHBE 2 SHSns?

A)maul Lidleir A B) emeu_Lifeti D C) eweu Lifledr E
11. Which mineral is necessary for the synthesis of Melanin?

A) Copper B) Zinc C) Sodium

Quevellsit OHTHLILIBE CHemeuwimer Heaibold 61517

A) Copper B) Zinc C) Sodium
12. Calorific Value of Carbohydrate is,

A)9 B) 1 C)4

sTTeUTemamL Byl g6t &Bsumflés OFHIILY,

A)9 B) 1 C)4

D) GUG

D) GUG

D) Cyclic AMP

D) &wpmdl AMP

D) Glycosuria

D) @emen@asm@flum

D) FAD

D) FAD

D) Vitamin K

D) emeul Liflenr K

D) Sulphur

D) Sulphur

D) 2

D) 2

13. The transfer of tissues/organs from one species to another is termed as,

A) Autograft B) Opsonization C) interleukin

D) Xenograft

Habsen |2 _plismen @m BiHHe0mbal BOBTHINIGE WIBBIIGDBE o6 GLuwIT?

A) o GLrdlym. .’ B) qusmenGs&ei C) @ebi_iredluydlest

D) Qe@ewmalym. i

14. Which hormone stimulates the production of Progesterone by the Corpus Luteum?

A)Epinephrine B) follicle stimulating hormone

C) Luteinizing hormone D) Growth hormone

HMTUSL sVIQUID ¢lpevld LIGImOenerdl 19@ymsdl o MmubHenuid HTewiBD amTTéLTe 6157
A) 6119GBL M6 B) micwiewions SrewihasHe0 ammiGLomes

C) svgemendmi eupmiTGLomesst D) euenit&d amnir@Lomest

P.T.O.



15. Aggregation of Platelets is inhibited by,

A) Prostaglandin B) Prostacyclin C) Thromboxane D) Bradykinin
RQeuipflsv 61&1 L1Ge_Gevl_(heserlen I (HHev HBHHHMSHI?
A) LBymeroLmaenmmebiig 63t B) yGBrmeroLmengdededt
C) &BymbuimeBervest D) dymgenaefedr
16. The renal threshold for Glucose is,
A) 180 mg/dI B) 2mg/dl C) 30 mg/di D) 10 mg/dl
Reumpllev 61&H GEmHCaTendett FWIBIs euFbL ReuBpfled 61HI?
A) 180 mg/dI B) 2mg/dl C) 30 mg/di D) 10 mg/dl
17. Yellow colour of the serum due to bilirubin is measured by,
A) Van den reaction B) Serum test
C) Icterus index D) Antipyrine Capacity
WedpLier smyemiond FIID 1EhF6elT BB @eumsled 61H6 psVlD Siealll LILIHESIBEHI?
A) aureir GILeir element B) &b Gxmmemen
C) &0y GO dord D) ostngenLiflesr gmeir

18. The Identification of genes and their respective functions is termed as,
A) Functional genomics B) Structural genomics
C) DNA microarray D) Comparative genomics
ReuBsled 61H OTLIEIHH6M6T DML WITEMD LoBBID DAeuBSle CFWIOLITHSHT 6T6imBI
SIMLPHBLILBHMBSHI?

A) QFwesdur’ (B FLuied B) & Lemoli oLy
C) DNA eniod@rmai@y D) @i’ G wriusd
19. Which type of blotting technique is used to detect specific DNA sequences?
A) Northern Blotting B) Western Blotting
C) Eastern Blotting D) Southern Blotting
BeuBpled 61hLH euemsds Lige| BHILLD DNA eauflengenus semipladpg?
A) BriTHes Lige) B) Qeuerdrimedr Ligey C) merOLiTedr Lige) D) saiten Lge)y

20. The Principal Intracellular Cation is,
A) Na” B) K* C)Mg ™ D) Ca"
ReBsled 61HI (PH6iIMID 2 6TelF6L Gl ewLwimedr &7
A) Na* B) K* C)Mg* D) Ca*
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